Norge LWP224V 03 - CONTROL PANEL

Norge Residential Norge LWP224V Washer Parts Parts Diagram 03 - CONTROL PANEL
Click on the part number to view part

Item Original Part Number Replaced By Status Part Description

1 21001261 Not Available PANEL, CONTROL (WHT)

" 25.7702 Speedclip, End Cap To Control
Panel

2 25-7649 910187 Screw

" 35-2669 Not Available CAP, END (LT)(WHT)

" 35-2668 21001453 Cap- End

3 25-7697 25-2219 Screw

" 25-7851 Speedclip, End Cap To Top

4 25.3092 90767 a:;edw_,r :;;) iﬁg3/8 HeX Washer

" 35-3691 21001554 Switch, Water Level

5 31001055 Not Available TRIM, ENDCAP (LT WHT)

" 31001054 Not Available TRIM, ENDCAP (RT WHT)

6 25-7760 Screw

Screw, 8A X 3/8 HeX Washer

7 25-3092 90767 Head Tapping

8 25-7702 Speedclip, End Cap To Control
Panel


http://www.pwslaundry.com/c-512350-residential-norge-lwp224v-washer-parts-for-repair-service
http://www.pwslaundry.com/i-10429440-norge-25-7702-washer-dryer-speedclip-end-cap-to-control-panel.html
http://www.pwslaundry.com/i-10431158-norge-910187-washer-dryer-screw.html
http://www.pwslaundry.com/i-10433223-norge-21001453-washer-dryer-cap-end.html
http://www.pwslaundry.com/i-10431065-norge-25-2219-washer-dryer-screw.html
http://www.pwslaundry.com/i-10429458-norge-25-7851-washer-dryer-speedclip-end-cap-to-top.html
http://www.pwslaundry.com/i-10433786-norge-90767-washer-dryer-screw-8a-x-3-8-hex-washer-head-tapping.html
http://www.pwslaundry.com/i-10429870-norge-21001554-washer-switch-water-level.html
http://www.pwslaundry.com/i-10429467-norge-25-7760-washer-dryer-screw.html
http://www.pwslaundry.com/i-10433786-norge-90767-washer-dryer-screw-8a-x-3-8-hex-washer-head-tapping.html
http://www.pwslaundry.com/i-10429440-norge-25-7702-washer-dryer-speedclip-end-cap-to-control-panel.html

12
13
14
15

31001193
31001128
25-3457

25-3092

35-2688
35-3838

21001339
35-3838

31001029
21001238
21001237
21001223

25-3092
21001239

25-3092

21001142

21001276
21001033
16002081

Not Available
90767
21001460
Not Available
3400094
21001502
90767
90767
Not Available
Not Available
Not Available

Pad, Shield
SHIELD, CONTROL
Screw, Sems

Screw, 8A X 3/8 HeX Washer
Head Tapping

Shield, Rear

Timer

TIMER

Timer

Screw, 10-32 X 3/8

Skirt Ri

Knob, Timer

Switch, Water Temperature

Screw, 8A X 3/8 HeX Washer
Head Tapping

Knob, Selector

Screw, 8A X 3/8 HeX Washer
Head Tapping

Switch, Speed

MANUAL, USE & CARE
MANUAL, USE & CARE
GUIDE, QUICK REF - NORGE


http://www.pwslaundry.com/i-10429896-norge-31001193-washer-dryer-pad-shield.html
http://www.pwslaundry.com/i-10429475-norge-25-3457-washer-dryer-screw-sems.html
http://www.pwslaundry.com/i-10433786-norge-90767-washer-dryer-screw-8a-x-3-8-hex-washer-head-tapping.html
http://www.pwslaundry.com/i-10431047-norge-21001460-washer-dryer-shield-rear.html
http://www.pwslaundry.com/i-10430904-norge-35-3838-washer-timer.html
http://www.pwslaundry.com/i-10430904-norge-35-3838-washer-timer.html
http://www.pwslaundry.com/i-10433944-norge-3400094-washer-screw-10-32-x-3-8.html
http://www.pwslaundry.com/i-10433232-norge-21001502-washer-skirt-ri.html
http://www.pwslaundry.com/i-10430072-norge-21001237-washer-knob-timer.html
http://www.pwslaundry.com/i-10428908-norge-21001223-washer-switch-water-temperature.html
http://www.pwslaundry.com/i-10433786-norge-90767-washer-dryer-screw-8a-x-3-8-hex-washer-head-tapping.html
http://www.pwslaundry.com/i-10430078-norge-21001239-washer-dryer-knob-selector.html
http://www.pwslaundry.com/i-10433786-norge-90767-washer-dryer-screw-8a-x-3-8-hex-washer-head-tapping.html
http://www.pwslaundry.com/i-10431051-norge-21001142-washer-switch-speed.html

	Norge LWP224V 03 - CONTROL PANEL

